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2) ‘Ali Urki 23v/46. 1 = J . The thythmic cycle is defined as if yek]. Whether or not the
incomplete form of the word is 10 be interpreted as indicating doubt as 1o its accuracy, il is clear from
the length of H2 b and the final repeated section of the serbend that it is Cantemir’s definition that is
the correct one. '

Hial: Rd 2: 6ag,8 fle.

Hi b: 14 are writicn as (the cquivalent of) two cycles to be repeated, prima voita as 2 except: 9,10
cd, seconda volta as 4 cxcepl: 34 ¢ Bd, 5¢c.

Mal: 1 2AG,910¢d,2: 1-2¢Bd A,9-10¢ dc,3: 8a,4: 6dc.

M b is writicn as (the cquivalent of) two cycles 10 be repeated, prima volta as 1 + 2 {except 2. 9,10
cd), seconda velia as 1 + 4 {cxcept 4: 5¢, 8 84, O G).



2) H2a2: 3a) .3 -8

H2bd: SpEpEr=p ey .u.‘—*Ew—r'fﬂ = ==
H2 a has a double bar aficr il, but no repeat sign.

H3b1: 12dd,3: 1-2de(]  3),9-10d ¢BJ, 4: | BY, 6 dr.
H3 is lollowed by a serbend:

ERENE=decEcEC[EecEsE=a=EE




